Lecture 16: Wed, 13 Feb 2008 |
Reading quizzes: no talking, no looking in your books/notes

Q1. What is the difference between a Fabry-Perot etalon and a
Fabry-Perot interferometer?
a. An etalon has a variable spacing between the two surfaces

(b An interferometer has a variable spacing between the two
surfaces

Q2.@/F alse — In P&W’s treatment of the double boundary
problem, (for the middle region) all reflections that end up

traveling to the right are lumped into a single “net forward-moving
field”.

Q3. The electric field at the right side of the middle layer is
connected to the electric field at the left side of the middle layer

via.
a the Freenel coefficients

“we VALN A AWNALVA WNUN/ALLNVIAN/LIW

&) a phase factor
c. the quadratic formula
d. transforming s- to p-polarization, and vice-versa.
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Lecture 17: Fri, 15 Feb 2008
Reading quizzes: no talking, no looking in your books/notes

Q1. The quantity F' (labeled F; in the book’s equation) is called
the: At P b con A
a. coefficient of Fabry-Perot 7[>: “;f,ﬂ,,ﬂ“
coefficient of finesse
c. coefficient of Fred
d. coefficient of Fresnel
e. coefficient of fringes

- Mpe ety Tanesn

Q2. In the example of frustrated total internal reflection, the book
used two:
@triangular prisms
b.rectangular slabs
C. mirrors

smaller than a Wavelength the transmission goes to
a 0

b.Y2
Cl



703 Cayg o {u}o‘T ag 76/7517\ o s SEcEsms 2

’ Co‘gi Z : N h“e-)(/\«‘{’ e @L = CJ’\N\(U\X €5 OZ < {«.\a).vv/?
m\;%6| b o e Lo e i S e e el i’
> . e oE o
\ e 3 s~ S o ‘7" Cr =<
i
W B S g e
——3" O, > < 15
va:\ é 7[”5%1./ : = )
pe 1L
i Al gz B § =0 &S16 R LI Y (Cpm{pm Cym‘;?\\x Fkvu\wam@iums)
‘ ci8 5 = Y} SEON g i i
Na
SR L, Col 2 ' gL“ Lot ,1 CM\{?U—P |
Qs = N H= (mach. )" R L R
‘ ot S e 2 S T ‘
é > i o
o BN T i e
ﬂ‘_%ﬁ\) |
1 ~
i g T e
o = i b b rU»I V},VVL\LV‘/
\ glé*waf\ta {\‘ﬁ;ﬁ.\: ﬂsﬁv (9} C{‘&: \\

' @.5 st 5h\‘ L% ru! \V\ oo
1N il e Rl
\ 5 S 1

SRR

B s P =
/%—6‘

7

P




—

Seu“ﬂl- ﬁf’d“z"‘h‘"’\ el e 9 o9 = + 693677‘ )
Ny = |
XS izl oy

M S~y T N s~ B

el (}‘LB Bl G&bzi‘a 5, = (,5702«‘-‘3766{

~paspg = 55385 ¥ e in

e

o5 e e B G
: ) s 73 7
Tovsk Vg 41, shl pesd 4 . Em F
- T
Lot e e T L St 7o AL LMY ,f'z/: 57
i a+l s £ R 0 4 L ey
ﬂl Qus&| 1.2 ’/\/‘L
25 /): ~ 1 i 7 ~ q‘% +‘Q<(‘ 7% z -
{ it ﬂ-\{’) Yl}l cg)e) 15 5 l/‘{’L & \ . /+ / wéy
{,L ¢ O , :/20’.
SRR fe A Corby T Yo : ;(ﬁl.L”m‘\;@)
¢ Vi ¥ | U 'zﬁa.c(bt Sl
(o ", 50! f
e C:)Om s 'Lv}
o
D2 : : -
¢ = Come &) (1‘ G-@ m!«xm.\j :Wk’\‘*‘ ’
Vﬁ %74,“\94
/7 Lk 5
—_—| /\// (‘wr@’; \+ 1 ,-} [ ,,,,, Lr‘ il
e ._-/ =ik 8z S )
\ i - Coxdi, \{ e -rl'(‘L i ,
b L ton)
B B e R o e e ey 525 SR 3 £ 2
o ) Lty ) (5,) e |E
\ t'k.os) ( 26t/ (ﬁ (g / e
< 3,080 -
Y 77.05] e SRH“ L OSJ/
, e e €
(5\4’ i ! : £ e
= /:L—(g"?’/”’”"fi.ﬁﬂ‘f ¥ peind +L28TE 7v.o5¢
7-4_0\" ! -
( 3 i Q € e ‘e (52




e

L a bkt | |
M. (¢ ks ~ 0.53Y ) e 1d
<4 T (\L ;

—P
= '3 ¢
LA O S e B

b, 1894 1 Lilagrd

e -

?.«3) 4809 \
el i e

PR ESECh e

Q wf M Has b

el.

| e e
SRR R i s v



nft}= T13[d_] = 3.6864 / (E~ (138.1d) + E~ (-148.1d) + 1.68638)
3.6864 ' \

1.68638 + e-148-1d , £138.1d

Out[1}=

——in[2]= Plot[T13[d], {d, 0, .1}, PlotRange - {0, 1}]
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